



Some Results on Zeros of a Polynomial

Subhasis Das

ABSTRACT: For a given polynomial $p(z) = a_0 + a_1z + \cdots + a_nz^n$ with real or complex coefficients, Gulzar (2015) proved for any real $p > 1, q > 1$ with $\frac{1}{p} + \frac{1}{q} = 1$, all the zeros of $p(z)$ lie in the closed circular region

$$|z| \leq \max \left\{ L_p, L_p^{\frac{1}{n+1}} \right\},$$

where

$$L_p = (n+1)^{\frac{1}{q}} \left(\sum_{j=1}^n \left| \frac{a_{n-1}a_{n-j} - a_na_{n-j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}}, \quad a_{-1} = 0.$$

Recently, Gulzar also generalized the above result by using a lacunary type polynomial. Unfortunately, the proof is not correct. In this present paper an attempt has been taken to investigate and extend the above results were made. Moreover, we have produce some important corollaries which give the generalization of Mezerji and Bidkham (2014) results.

Key Words: Zeros, Cauchy bound, circular region, Lacunary type polynomials.

Contents

1 Introduction and statement of results	1
2 Proof of Theorems	8

1. Introduction and statement of results

Let

$$p(z) = a_0 + a_1z + \cdots + a_nz^n$$

be a polynomial of degree n with real or complex coefficients. Concerning the bound for the moduli of zeros of $p(z)$, a famous result was obtained by Cauchy [3, Ch. VII, Sect. 27, Thm. 27.2] (see also [1], [8, Ch. VIII, Cor. 8.1.8]) is well-known.

Using Holder's inequality, Mezerji and Bidkham [2] proved the following Theorems.

Theorem A. For any real $p > 1, q > 1$ with

$$\frac{1}{p} + \frac{1}{q} = 1,$$

all the zeros of $p(z)$ lie in the closed circular region

$$|z| \leq (1 + A_p^q)^{\frac{1}{q}},$$

where

$$A_p = \min_{-1 \leq i \leq n} \{A_{p,i}\}, \quad A_{p,i} = \left(\sum_{j=0}^n \left| \frac{a_i a_{n-j} - a_n a_{n-j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}}, \quad a_{-1} = 0.$$

Theorem B. For any real $p > 1, q > 1$ with

$$\frac{1}{p} + \frac{1}{q} = 1,$$

all the zeros of $p(z)$ never lie in the closed circular region

$$|z| \leq (1 + B_p^q)^{-\frac{1}{q}},$$

where

$$B_p = \min_{-1 \leq i \leq n} \{B_{p,i}\}, \quad B_{p,i} = \left(\sum_{j=0}^n \left| \frac{a_i a_j - a_0 a_{j+1}}{a_0^2} \right|^p \right)^{\frac{1}{p}}, \quad a_{-1} = a_{n+1} = 0.$$

Applying the similar arguments, in 2015, Gulzar [4] established the following result.

Theorem C. For any real $p > 1, q > 1$ with

$$\frac{1}{p} + \frac{1}{q} = 1,$$

all the zeros of $p(z)$ with $a_{n-1} \neq 0$ lie in the closed circular region

$$|z| \leq \max \left\{ L_p, L_p^{\frac{1}{n+1}} \right\},$$

where

$$L_p = (n+1)^{\frac{1}{q}} \left(\sum_{j=1}^n \left| \frac{a_{n-1} a_{n-j} - a_n a_{n-j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}}, \quad a_{-1} = 0.$$

Recently, Gulzar [5] also generalized the above result by using lacunary type polynomial [3, Ch. VIII, Sect. 34, pp. 156]

$$P(z) = \sum_{j=0}^{\lambda} a_j z^j + a_n z^n, \quad 1 \leq \lambda \leq n-1, \quad a_\lambda \neq 0$$

and obtained the following result.

Theorem D. For any real $p > 1, q > 1$ with

$$\frac{1}{p} + \frac{1}{q} = 1,$$

all the zeros of $P(z)$ lie in the closed circular region

$$|z| \leq \max \left\{ L, L^{\frac{1}{n+1}} \right\},$$

where

$$L = (n+1)^{\frac{1}{q}} \left(\sum_{j=0}^{\lambda+1} \left| \frac{a_\lambda a_{\lambda+1-j} - a_n a_{\lambda-j}}{a_n^2} \right|^p \right)^{\frac{1}{p}}, \quad a_{\lambda+1} = a_{-1} = 0.$$

Unfortunately, the above theorem is not correct due to some Author's mistakes in the beginning of the proof as written by

$$\begin{aligned} F(z) &= (a_\lambda - a_n z) P(z) \\ &= (a_\lambda - a_n z) (a_n z^n + a_\lambda z^\lambda + a_{\lambda-1} z^{\lambda-1} + \cdots + a_1 z + a_0) \\ &= -a_n^2 z^{n+1} - a_\lambda a_n z^{\lambda+1} + (a_\lambda a_\lambda - a_n a_{\lambda-1}) z^\lambda + \cdots + a_\lambda a_0 \\ &= -a_n^2 z^{n+1} + \sum_{j=0}^{\lambda+1} (a_\lambda a_{\lambda+1-j} - a_n a_{\lambda-j}) z^{\lambda+1-j} \end{aligned}$$

and obtained the inequality

$$|F(z)| \geq |a_n|^2 |z|^{n+1} - \sum_{j=0}^{\lambda+1} |a_\lambda a_{\lambda+1-j} - a_n a_{\lambda-j}| |z|^{\lambda+1-j}.$$

In fact,

$$F(z) = -a_n^2 z^{n+1} + a_n a_\lambda z^n + \sum_{j=0}^{\lambda+1} (a_\lambda a_{\lambda+1-j} - a_n a_{\lambda-j}) z^{\lambda+1-j}$$

and therefore,

$$\begin{aligned} |F(z)| &\geq |a_n|^2 |z|^{n+1} - |a_n a_\lambda| |z|^n - \sum_{j=0}^{\lambda+1} |a_\lambda a_{\lambda+1-j} - a_n a_{\lambda-j}| |z|^{\lambda+1-j} \\ &\not\geq |a_n|^2 |z|^{n+1} - \sum_{j=0}^{\lambda+1} |a_\lambda a_{\lambda+1-j} - a_n a_{\lambda-j}| |z|^{\lambda+1-j}, \end{aligned}$$

which shows that the inequality

$$|F(z)| \geq |a_n|^2 |z|^{n+1} - \sum_{j=0}^{\lambda+1} |a_\lambda a_{\lambda+1-j} - a_n a_{\lambda-j}| |z|^{\lambda+1-j}$$

is not true.

In the literature, there exist some results ([2,3,4,5,6,7]) on polynomial zeros by using Holder's inequality.

In this paper, we have obtained some results concerning the bounds for the zeros of a lacunary type polynomial $P(z)$ by using Holder's inequality. Our results produce an important corollaries which give the generalization of Theorem A, Theorem B and Theorem C, respectively. Moreover, some of the results give a zero free region. More precisely, we prove

Theorem 1.1 *For any real or complex t with $p > 1, q > 1$,*

$$\frac{1}{p} + \frac{1}{q} = 1,$$

all the zeros of $P(z)$ lie in the closed circular region

$$|z| \leq \max \left\{ L_{p,t}, L_{p,t}^{\frac{1}{n+1}} \right\},$$

where

$$L_{p,t} = \left\{ \begin{array}{l} (\lambda + 3)^{\frac{1}{q}} \left(\sum_{j \in \Omega} \left| \frac{ta_j - a_n a_{j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}}; \text{ for } 0 < \lambda < n - 1 \text{ with } a_{-1} = a_{\lambda+1} = 0 \\ (n + 1)^{\frac{1}{q}} \left(\sum_{j=0}^n \left| \frac{ta_j - a_n a_{j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}}; \text{ for } \lambda = n - 1 \text{ with } a_{-1} = 0 \end{array} \right\} \quad (1.1)$$

and

$$\Omega = \{0, 1, \dots, \lambda, \lambda + 1, n\}.$$

Clearly

$$\sum_{j=0}^n \left| \frac{ta_j - a_n a_{j-1}}{a_n^2} \right|^p = \sum_{j=0}^n \left| \frac{ta_{n-j} - a_n a_{n-j-1}}{a_n^2} \right|^p. \quad (1.2)$$

Putting $t = a_{n-1}$ in the above expression we have

$$\begin{aligned} \sum_{j=0}^n \left| \frac{a_{n-1}a_j - a_n a_{j-1}}{a_n^2} \right|^p &= \sum_{j=0}^n \left| \frac{a_{n-1}a_{n-j} - a_n a_{n-j-1}}{a_n^2} \right|^p \\ &= \sum_{j=1}^n \left| \frac{a_{n-1}a_{n-j} - a_n a_{n-j-1}}{a_n^2} \right|^p. \end{aligned}$$

So for the case of $\lambda = n - 1$, we get from (1.1),

$$L_{p,t} = (n+1)^{\frac{1}{q}} \left(\sum_{j=1}^n \left| \frac{a_{n-1}a_{n-j} - a_n a_{n-j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}} \quad \text{when } t = a_{n-1}.$$

Also, for $0 < \lambda < n - 1$, we get from (1.1),

$$L_{p,t} = (\lambda+3)^{\frac{1}{q}} \left(\sum_{j \in \Omega} \left| \frac{a_\lambda a_j - a_n a_{j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}} \quad \text{when } t = a_\lambda.$$

Hence, with the help of Theorem 1.1 we can easily obtained the following Corollary which is a generalization of Theorem C.

Corollary 1.1 *For any real $p > 1, q > 1$ with $\frac{1}{p} + \frac{1}{q} = 1$, all the zeros of $P(z)$ lie in the closed circular region*

$$|z| \leq \max \left\{ L_p, L_p^{\frac{1}{n+1}} \right\},$$

where

$$L_p = \left\{ \begin{array}{l} (\lambda+3)^{\frac{1}{q}} \left(\sum_{j \in \Omega} \left| \frac{a_\lambda a_j - a_n a_{j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}} ; \text{ for } 0 < \lambda < n-1 \text{ with } a_{-1} = a_{\lambda+1} = 0 \\ (n+1)^{\frac{1}{q}} \left(\sum_{j=1}^n \left| \frac{a_{n-1}a_{n-j} - a_n a_{n-j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}} ; \text{ for } \lambda = n-1 \text{ with } a_{-1} = 0 \end{array} \right\}$$

and Ω is same as in Theorem 1.1.

Theorem 1.2 *For any real or complex t with $p > 1, q > 1$,*

$$\frac{1}{p} + \frac{1}{q} = 1,$$

all the zeros of $P(z)$ never lie in an open circular region

$$|z| < \max \left\{ \frac{1}{L'_{p,t}}, \frac{1}{(L'_{p,t})^{\frac{1}{n+1}}} \right\},$$

where

$$L'_{p,t} = \left\{ \begin{array}{l} (\lambda+3)^{\frac{1}{q}} \left(\sum_{j \in \Delta} \left| \frac{t a_j - a_0 a_{j+1}}{a_0^2} \right|^p \right)^{\frac{1}{p}} ; \text{ for } 0 < \lambda < n-1 \text{ with } a_{n+1} = a_{\lambda+1} = 0 \\ (n+1)^{\frac{1}{q}} \left(\sum_{j=0}^n \left| \frac{t a_j - a_0 a_{j+1}}{a_0^2} \right|^p \right)^{\frac{1}{p}} ; \text{ for } \lambda = n-1 \text{ with } a_{n+1} = 0 \end{array} \right\} \quad (1.3)$$

and

$$\Delta = \{0, 1, \dots, \lambda, n-1, n\}.$$

Note that the estimated bounds in Theorem 1.1 and Theorem 1.2 depend not only the coefficients of $P(z)$ but also the value of t . Here we estimate the expected values of t for which the bounds in Theorem 1.1, and Theorem 1.2 give the better approximation for the zeros of $P(z)$ by considering t being real. At first we determine the value of t for which the Theorem 1.1 gives better bound that can be obtain by reducing the modulus value of the coefficients. It is clear from the equation (2.1), the expected value of t may be obtain when the value of

$$S(t) = \left\{ \begin{array}{l} \sum_{j \in \Omega - (\lambda+1)} |ta_j - a_n a_{j-1}|^2; \text{ for } \lambda < n-1 \\ \sum_{j=0}^n |ta_j - a_n a_{j-1}|^2; \text{ for } \lambda = n-1 \end{array} \right\}$$

is minimum (for $j = \lambda + 1$, the corresponding term in the equation (2.1) does not involve the variable t and so we omitted that particular term from the above expression $S(t)$ for the case of $\lambda < n - 1$).

For $\lambda < n - 1$, we have

$$\begin{aligned} S(t) &= \sum_{j \in \Omega - \{\lambda+1\}} (ta_j - a_n a_{j-1}) \overline{(ta_j - a_n a_{j-1})} \\ &= \sum_{j \in \Omega - \{\lambda+1\}} (ta_j - a_n a_{j-1}) (t\bar{a}_j - \bar{a}_n \bar{a}_{j-1}) \\ &= \sum_{j \in \Omega - \{\lambda+1\}} \left(|a_j|^2 t^2 - (a_n \bar{a}_j a_{j-1} + \bar{a}_n a_j \bar{a}_{j-1}) t + |a_n|^2 |a_{j-1}|^2 \right) \\ &= t^2 \sum_{j \in \Omega - \{\lambda+1\}} |a_j|^2 - 2t \sum_{j \in \Omega - \{\lambda+1\}} \operatorname{Re}(a_n \bar{a}_j a_{j-1}) + |a_n|^2 \sum_{j \in \Omega - \{\lambda+1\}} |a_{j-1}|^2. \end{aligned}$$

Clearly,

$$S'(t) = 2t \sum_{j \in \Omega - \{\lambda+1\}} |a_j|^2 - 2 \sum_{j \in \Omega - \{\lambda+1\}} \operatorname{Re}(a_n \bar{a}_j a_{j-1})$$

and

$$S''(t) = 2 \sum_{j \in \Omega - \{\lambda+1\}} |a_j|^2 > 0,$$

which shows that $S(t)$ attains its minimum value at

$$\frac{\sum_{j \in \Omega - \{\lambda+1\}} \operatorname{Re}(a_n \bar{a}_j a_{j-1})}{\sum_{j \in \Omega - \{\lambda+1\}} |a_j|^2}.$$

Similarly, for $\lambda = n - 1$, the expected value of t is

$$\frac{\sum_{j=0}^n \operatorname{Re}(a_n \bar{a}_j a_{j-1})}{\sum_{j=0}^n |a_j|^2}.$$

Hence, the expected value of t for the bound in Theorem 1.1 is given by

$$t_0 = \left\{ \begin{array}{l} \frac{\sum_{j \in \Omega - \{\lambda+1\}} \operatorname{Re}(a_n \bar{a}_j a_{j-1})}{\sum_{j \in \Omega - \{\lambda+1\}} |a_j|^2}; \text{ for } \lambda < n-1 \\ \frac{\sum_{j=0}^n \operatorname{Re}(a_n \bar{a}_j a_{j-1})}{\sum_{j=0}^n |a_j|^2}; \text{ for } \lambda = n-1 \end{array} \right\}. \quad (1.4)$$

Again by observing the equation (2.2), the expected value of t can be obtain when

$$M(t) = \begin{cases} \sum_{j \in \Delta - \{n-1\}} |ta_j - a_0 a_{j+1}|^2; & \text{for } \lambda < n-1 \\ \sum_{j=0}^n |ta_j - a_0 a_{j+1}|^2; & \text{for } \lambda = n-1 \end{cases}$$

is minimum (for $j = n-1$, the corresponding term in the equation (2.2) does not involve the variable t and so we remove that particular term from the above expression $M(t)$ for the case of $\lambda < n-1$) for the bounds in Theorem 1.2 and is given by

$$t'_0 = \begin{cases} \frac{\sum_{j \in \Delta - \{n-1\}} \operatorname{Re}(a_0 a_{j+1} \overline{a_j})}{\sum_{j \in \Delta - \{n-1\}} |a_j|^2}; & \text{for } \lambda < n-1 \\ \frac{\sum_{j=0}^n \operatorname{Re}(a_0 a_{j+1} \overline{a_j})}{\sum_{j=0}^n |a_j|^2}; & \text{for } \lambda = n-1 \end{cases}, \quad (1.5)$$

Putting $t = t_0$ in Theorem 1.1 and $t = t'_0$ in Theorem 1.2 and combine them, we can easily obtain the following Corollary.

Corollary 1.2 *For any real $p > 1, q > 1$ with*

$$\frac{1}{p} + \frac{1}{q} = 1,$$

all the zeros of $P(z)$ lie in the closed annular region

$$\max \left\{ \frac{1}{L'_{p,t'_0}}, \frac{1}{\left(L'_{p,t'_0}\right)^{\frac{1}{n+1}}} \right\} \leq |z| \leq \max \left\{ L_{p,t_0}, L_{p,t_0}^{\frac{1}{n+1}} \right\},$$

where L_{p,t_0}, L'_{p,t'_0} are the values of $L_{p,t}, L'_{p,t}$ (see equations (1.1) and (1.3)) at t_0, t'_0 (see equations (1.4) and (1.5)) respectively.

Theorem 1.3 *For any real or complex t with $p > 1, q > 1$,*

$$\frac{1}{p} + \frac{1}{q} = 1,$$

all the zeros of $P(z)$ lie in an open circular region

$$|z| < (1 + A_{p,t}^q)^{\frac{1}{q}},$$

where

$$A_{p,t} = \begin{cases} B_{p,t}; & \text{for } 0 < \lambda < n-1 \text{ with } a_{-1} = a_{\lambda+1} = 0 \\ C_{p,t}; & \text{for } \lambda = n-1 \text{ with } a_{-1} = 0 \end{cases}, \quad (1.6)$$

$$B_{p,t} = \left(\sum_{j \in \Omega} \left| \frac{ta_j - a_n a_{j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}}, C_{p,t} = \left(\sum_{j=0}^n \left| \frac{ta_j - a_n a_{j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}}, \quad (1.7)$$

and Ω is same as in Theorem 1.1.

With the help of Theorem 1.3 and using the equation (1.2), we obtain the following Corollary as follows.

Corollary 1.3 For any $p > 1, q > 1$ with

$$\frac{1}{p} + \frac{1}{q} = 1,$$

all the zeros of $P(z)$ lie in an open circular region

$$|z| < (1 + A_p^q)^{\frac{1}{q}},$$

where

$$A_p = \left\{ \begin{array}{l} \min_{i \in \Omega} \{B_{p,a_i}\}; \text{ for } 0 < \lambda < n-1 \text{ with } a_{-1} = a_{\lambda+1} = 0 \\ \min_{-1 \leq i \leq n} \{C_{p,a_i}\}; \text{ for } \lambda = n-1 \text{ with } a_{-1} = 0 \end{array} \right\},$$

$$B_{p,a_i} = \left(\sum_{j \in \Omega} \left| \frac{a_i a_j - a_n a_{j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}}, \quad C_{p,a_i} = \left(\sum_{j=0}^n \left| \frac{a_i a_{n-j} - a_n a_{n-j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}},$$

and Ω is same as in Theorem 1.1.

Clearly, corollary 1.3 is a generalization of Theorem A. Also, with the help of Theorem 1.3 we obtain the next Corollary by putting $t = t_0$ (see equation (1.4)) as follows.

Corollary 1.4 For any $p > 1, q > 1$ with

$$\frac{1}{p} + \frac{1}{q} = 1,$$

all the zeros of $P(z)$ lie in an open circular region

$$|z| < (1 + A_{p,t_0}^q)^{\frac{1}{q}},$$

where A_{p,t_0} represent the value of $A_{p,t}$ (see equation (1.6)) at $t = t_0$.

Theorem 1.4 For any real or complex t with $p > 1, q > 1$,

$$\frac{1}{p} + \frac{1}{q} = 1,$$

all the zeros of $P(z)$ never lie in the closed circular region

$$|z| \leq (1 + B_{p,t}^q)^{-\frac{1}{q}},$$

where

$$B_{p,t} = \left\{ \begin{array}{l} D_{p,t}; \text{ for } 0 < \lambda < n-1 \text{ with } a_{n+1} = a_{\lambda+1} = 0 \\ E_{p,t}; \text{ for } \lambda = n-1 \text{ with } a_{-1} = 0 \end{array} \right\}, \quad (1.8)$$

$$D_{p,t} = \left(\sum_{j \in \Delta} \left| \frac{ta_j - a_0 a_{j+1}}{a_0^2} \right|^p \right)^{\frac{1}{p}} \quad \text{and} \quad E_{p,t} = \left(\sum_{j=0}^n \left| \frac{ta_j - a_0 a_{j+1}}{a_0^2} \right|^p \right)^{\frac{1}{p}}, \quad (1.9)$$

and Δ is same as in Theorem 1.2.

With the help of Theorem 1.4, we obtain the following Corollary which is a generalization of Theorem B as follows.

Corollary 1.5 For any $p > 1, q > 1$ with

$$\frac{1}{p} + \frac{1}{q} = 1,$$

all the zeros of $P(z)$ never lie in the closed circular region

$$|z| < (1 + B_p^q)^{-\frac{1}{q}},$$

where Ω is same as in Theorem 1.1 and

$$B_p = \left\{ \begin{array}{l} \min_{i \in \Omega} \{D_{p,a_i}\}; \text{ for } 0 < \lambda < n-1 \text{ with } a_{-1} = a_{\lambda+1} = 0 \\ \min_{-1 \leq i \leq n} \{E_{p,a_i}\}; \text{ for } \lambda = n-1 \text{ with } a_{-1} = 0 \end{array} \right\},$$

$$D_{p,a_i} = \left(\sum_{j \in \Delta} \left| \frac{a_i a_j - a_0 a_{j+1}}{a_0^2} \right|^p \right)^{\frac{1}{p}} \text{ and } E_{p,a_i} = \left(\sum_{j=0}^n \left| \frac{a_i a_j - a_0 a_{j+1}}{a_0^2} \right|^p \right)^{\frac{1}{p}}.$$

Put $t = t'_0$ (see equation (1.5)) in Theorem 1.4 we have the following Corollary.

Corollary 1.6 For any $p > 1, q > 1$ with

$$\frac{1}{p} + \frac{1}{q} = 1,$$

all the zeros of $P(z)$ never lie in the closed circular region

$$|z| \leq \left(1 + B_{p,t'_0}^q\right)^{-\frac{1}{q}},$$

where

$$B_{p,t'_0} = \left\{ \begin{array}{l} D_{p,t'_0}; \text{ for } 0 < \lambda < n-1 \text{ with } a_{n+1} = a_{\lambda+1} = 0 \\ E_{p,t'_0}; \text{ for } \lambda = n-1 \text{ with } a_{-1} = 0 \end{array} \right\},$$

$$D_{p,t'_0} = \left(\sum_{j \in \Delta} \left| \frac{t'_0 a_j - a_0 a_{j+1}}{a_0^2} \right|^p \right)^{\frac{1}{p}}, E_{p,t'_0} = \left(\sum_{j=0}^n \left| \frac{t'_0 a_j - a_0 a_{j+1}}{a_0^2} \right|^p \right)^{\frac{1}{p}},$$

$\Delta = \{0, 1, \dots, \lambda, n-1, n\}$ and t'_0 is given by the equation (1.5).

From Corollary 1.4 and Corollary 1.6, we can immediately obtained the following Corollary.

Corollary 1.7 For any $p > 1, q > 1$ with

$$\frac{1}{p} + \frac{1}{q} = 1,$$

all the zeros of $P(z)$ lie in an open annular region

$$\left(1 + B_{p,t'_0}^q\right)^{-\frac{1}{q}} < |z| < \left(1 + A_{p,t_0}^q\right)^{\frac{1}{q}},$$

where A_{p,t_0} and B_{p,t'_0}^q are same as in Corollary 1.4 and Corollary 1.6 respectively.

2. Proof of Theorems

Proof: [Proof of Theorem 1.1] Clearly, for some real or complex t ,

$$\begin{aligned} F(z) &= (t - a_n z) P(z) \\ &= \left\{ \begin{array}{l} -a_n^2 z^{n+1} + \sum_{j \in \Omega} (ta_j - a_n a_{j-1}) z^j; \text{ for } \lambda < n-1 \text{ with } a_{-1} = a_{\lambda+1} = 0 \\ -a_n^2 z^{n+1} + \sum_{j=0}^n (ta_j - a_n a_{j-1}) z^j; \text{ for } \lambda = n-1 \text{ with } a_{-1} = 0 \end{array} \right\}, \end{aligned}$$

where $\Omega = \{0, 1, \dots, \lambda, \lambda+1, n\}$.

Now, for some $|z| > 0$,

$$|F(z)| \geq \left\{ \begin{array}{l} |a_n|^2 |z|^{n+1} - \sum_{j \in \Omega} |ta_j - a_n a_{j-1}| |z|^j; \text{ for } \lambda < n-1 \\ |a_n|^2 |z|^{n+1} - \sum_{j=0}^n |ta_j - a_n a_{j-1}| |z|^j; \text{ for } \lambda = n-1 \end{array} \right\}. \quad (2.1)$$

There are two possibilities:

Case I: For $\lambda < n - 1$,

$$|F(z)| \geq |a_n|^2 |z|^{n+1} \left[1 - \sum_{j \in \Omega} \left| \frac{ta_j - a_n a_{j-1}}{a_n^2} \right| \frac{1}{|z|^{n+1-j}} \right].$$

Applying Holder's inequality, we have

$$|F(z)| \geq |a_n|^2 |z|^{n+1} \left[1 - \left(\sum_{j \in \Omega} \left| \frac{ta_j - a_n a_{j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}} \left(\sum_{j \in \Omega} \frac{1}{|z|^{(n+1-j)q}} \right)^{\frac{1}{q}} \right].$$

On $|z| \geq 1$,

$$\begin{aligned} |z|^{(n+1-j)q} &\geq |z|^q \text{ for each } j \in \Omega, \\ \text{i.e., } \frac{1}{|z|^{(n+1-j)q}} &\leq \frac{1}{|z|^q}. \end{aligned}$$

So,

$$\begin{aligned} \sum_{j \in \Omega} \frac{1}{|z|^{(n+1-j)q}} &\leq (\lambda + 3) \frac{1}{|z|^q} \\ \text{i.e., } \left(\sum_{j \in \Omega} \frac{1}{|z|^{(n+1-j)q}} \right)^{\frac{1}{q}} &\leq (\lambda + 3)^{\frac{1}{q}} \frac{1}{|z|}. \end{aligned}$$

Which implies

$$|F(z)| \geq |a_n|^2 |z|^{n+1} \left[1 - (\lambda + 3)^{\frac{1}{q}} \left(\sum_{j \in \Omega} \left| \frac{ta_j - a_n a_{j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}} \frac{1}{|z|} \right] > 0$$

if

$$|z| > (\lambda + 3)^{\frac{1}{q}} \left(\sum_{j \in \Omega} \left| \frac{ta_j - a_n a_{j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}} = L_{p,t}.$$

Again, for $|z| \leq 1$,

$$\begin{aligned} |z|^{(n+1-j)q} &\geq |z|^{(n+1)q} \text{ for each } j \in \Omega, \\ \text{i.e., } \frac{1}{|z|^{(n+1-j)q}} &\leq \frac{1}{|z|^{(n+1)q}}, \end{aligned}$$

which implies

$$\begin{aligned} \sum_{j \in \Omega} \frac{1}{|z|^{(n+1-j)q}} &\leq (\lambda + 3) \frac{1}{|z|^{(n+1)q}} \\ \text{i.e., } \left(\sum_{j \in \Omega} \frac{1}{|z|^{(n+1-j)q}} \right)^{\frac{1}{q}} &\leq (\lambda + 3)^{\frac{1}{q}} \frac{1}{|z|^{(n+1)}}. \end{aligned}$$

Hence,

$$|F(z)| \geq |a_n|^2 |z|^{n+1} \left[1 - (\lambda + 3)^{\frac{1}{q}} \left(\sum_{j \in \Omega} \left| \frac{ta_j - a_n a_{j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}} \frac{1}{|z|^{(n+1)}} \right] > 0$$

if

$$|z| > \left[(\lambda + 3)^{\frac{1}{q}} \left(\sum_{j \in \Omega} \left| \frac{ta_j - a_n a_{j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}} \right]^{\frac{1}{n+1}} = L_{p,t}^{\frac{1}{n+1}}.$$

Now, there are two possibilities of $L_{p,t}$:

(1) If $L_{p,t} \geq 1$, then

$$|F(z)| > 0 \text{ for } |z| > L_{p,t} = \max \left\{ L_{p,t}, L_{p,t}^{\frac{1}{n+1}} \right\}.$$

(2) If $L_{p,t} < 1$, then

$$|F(z)| > 0 \text{ for } |z| > L_{p,t}^{\frac{1}{n+1}} = \max \left\{ L_{p,t}, L_{p,t}^{\frac{1}{n+1}} \right\}.$$

Combining both possibilities, we have

$$|F(z)| > 0 \text{ if } |z| > \max \left\{ L_{p,t}, L_{p,t}^{\frac{1}{n+1}} \right\}$$

and it leads us to the desired result.

Case II: For $\lambda = n - 1$,

$$|F(z)| \geq |a_n|^2 |z|^{n+1} \left[1 - \sum_{j=0}^n \left| \frac{ta_j - a_n a_{j-1}}{a_n^2} \right| \frac{1}{|z|^{n+1-j}} \right].$$

In this case, we take

$$L_{p,t} = (n+1)^{\frac{1}{q}} \left(\sum_{j=0}^n \left| \frac{ta_j - a_n a_{j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}}.$$

Applying Holder's inequality and do the same procedure mentioned in case I to establish the desired result. This completes the proof of Theorem 1.1. \square

Proof: [Proof of Theorem 1.2] For some real or complex t , we construct a polynomial define by

$$\begin{aligned} R(z) = & -a_0^2 z^{n+1} + (ta_0 - a_0 a_1) z^n + (ta_1 - a_0 a_2) z^{n-1} + \cdots + (ta_j - a_0 a_{j+1}) z^{n-j} \\ & + \cdots + (ta_{\lambda-1} - a_0 a_{\lambda}) z^{n-(\lambda-1)} + ta_{\lambda} z^{n-\lambda} - a_0 a_n z + ta_n, \end{aligned}$$

where

$$R(z) = (t - a_0 z) z^n P\left(\frac{1}{z}\right).$$

Clearly, $R(z)$ can be written as

$$R(z) = \begin{cases} -a_0^2 z^{n+1} + \sum_{j \in \Delta} (ta_j - a_0 a_{j+1}) z^{n-j}; & \text{for } \lambda < n-1 \text{ with } a_{n+1} = a_{\lambda+1} = 0 \\ -a_0^2 z^{n+1} + \sum_{j=0}^n (ta_j - a_0 a_{j+1}) z^{n-j}; & \text{for } \lambda = n-1 \text{ with } a_{n+1} = 0 \end{cases},$$

where $\Delta = \{0, 1, \dots, \lambda, n-1, n\}$. So,

$$|R(z)| \geq \begin{cases} |a_0|^2 |z|^{n+1} - \sum_{j \in \Delta} |ta_j - a_0 a_{j+1}| |z|^{n-j}; & \text{for } \lambda < n-1 \\ |a_0|^2 |z|^{n+1} + \sum_{j=0}^n |ta_j - a_0 a_{j+1}| |z|^{n-j}; & \text{for } \lambda = n-1 \end{cases}. \quad (2.2)$$

There are two possibilities of λ :

Case I: For $\lambda < n - 1$,

$$|R(z)| \geq |a_0|^2 \left(|z|^{n+1} - \sum_{j \in \Delta} \left| \frac{ta_j - a_0 a_{j+1}}{a_0^2} \right| \frac{1}{|z|^{j+1}} \right).$$

Applying Holder's inequality, we have

$$|R(z)| \geq |a_0|^2 \left[|z|^{n+1} - \left(\sum_{j \in \Delta} \left| \frac{ta_j - a_0 a_{j+1}}{a_0^2} \right|^p \right)^{\frac{1}{p}} \left(\sum_{j \in \Delta} \frac{1}{|z|^{(j+1)q}} \right)^{\frac{1}{q}} \right].$$

On $|z| \geq 1$ and for each $j \in \Delta$,

$$|z|^{(j+1)q} \geq |z|^q$$

which implies

$$\left(\sum_{j \in \Delta} \frac{1}{|z|^{(j+1)q}} \right)^{\frac{1}{q}} \leq (\lambda + 3)^{\frac{1}{q}} \frac{1}{|z|}.$$

So,

$$|R(z)| \geq |a_0|^2 \left[|z|^{n+1} - (\lambda + 3)^{\frac{1}{q}} \left(\sum_{j \in \Delta} \left| \frac{ta_j - a_0 a_{j+1}}{a_0^2} \right|^p \right)^{\frac{1}{p}} \frac{1}{|z|} \right] > 0$$

if

$$|z| > (\lambda + 3)^{\frac{1}{q}} \left(\sum_{j \in \Delta} \left| \frac{ta_j - a_0 a_{j+1}}{a_0^2} \right|^p \right)^{\frac{1}{p}} = L'_{p,t}.$$

When $|z| \leq 1$ then, for each $j \in \Delta$,

$$|z|^{(j+1)q} \geq |z|^{(n+1)q},$$

which implies

$$\left(\sum_{j \in \Delta} \frac{1}{|z|^{(j+1)q}} \right)^{\frac{1}{q}} \leq (\lambda + 3)^{\frac{1}{q}} \frac{1}{|z|^{n+1}}.$$

So,

$$|R(z)| \geq |a_0|^2 \left[|z|^{n+1} - (\lambda + 3)^{\frac{1}{q}} \left(\sum_{j \in \Delta} \left| \frac{ta_j - a_0 a_{j+1}}{a_0^2} \right|^p \right)^{\frac{1}{p}} \frac{1}{|z|^{n+1}} \right] > 0$$

if

$$|z| > \left[(\lambda + 3)^{\frac{1}{q}} \left(\sum_{j \in \Delta} \left| \frac{ta_j - a_0 a_{j+1}}{a_0^2} \right|^p \right)^{\frac{1}{p}} \right]^{\frac{1}{n+1}} = (L'_{p,t})^{\frac{1}{n+1}}.$$

There are two possibilities of $L'_{p,t}$:

(1) If $L'_{p,t} \geq 1$, then

$$|R(z)| > 0 \text{ for } |z| > L'_{p,t} = \max \left\{ L'_{p,t}, (L'_{p,t})^{\frac{1}{n+1}} \right\}.$$

(2) If $L'_{p,t} < 1$, then

$$|R(z)| > 0 \text{ for } |z| > (L'_{p,t})^{\frac{1}{n+1}} = \max \left\{ L'_{p,t}, (L'_{p,t})^{\frac{1}{n+1}} \right\}.$$

Combining both possibilities, we have

$$|R(z)| > 0 \text{ if } |z| > \max \left\{ L'_{p,t}, (L'_{p,t})^{\frac{1}{n+1}} \right\}$$

and it leads us to the desired result.

Case II: For $\lambda = n - 1$,

$$|R(z)| \geq |a_0|^2 |z|^{n+1} \left[1 - \sum_{j=0}^n \left| \frac{ta_j - a_n a_{j+1}}{a_0^2} \right| \frac{1}{|z|^{j+1}} \right].$$

Here we take

$$L'_{p,t} = \left(\sum_{j=0}^n \left| \frac{ta_j - a_n a_{j+1}}{a_0^2} \right|^p \right)^{\frac{1}{p}}.$$

Applying Holder's inequality and similar procedure as in case I, one can easily obtain the desired result. This completes the proof of Theorem 1.2. \square

Proof: [Proof of Theorem 1.3] On $|z| > 1$, we have

$$|F(z)| \geq \begin{cases} |a_n|^2 |z|^{n+1} - \sum_{j \in \Omega} |ta_j - a_n a_{j-1}| |z|^j; & \text{for } \lambda < n - 1 \\ |a_n|^2 |z|^{n+1} - \sum_{j=0}^n |ta_j - a_n a_{j-1}| |z|^j; & \text{for } \lambda = n - 1 \end{cases}.$$

There are two possibilities of λ :

Case I: For $\lambda < n - 1$,

$$|F(z)| \geq |a_n|^2 |z|^{n+1} \left[1 - \sum_{j \in \Omega} \left| \frac{ta_j - a_n a_{j-1}}{a_n^2} \right| \frac{1}{|z|^{n+1-j}} \right].$$

Using Holder's inequality, we have

$$\begin{aligned} |F(z)| &\geq |a_n|^2 |z|^{n+1} \left[1 - \left(\sum_{j \in \Omega} \left| \frac{ta_j - a_n a_{j-1}}{a_n^2} \right|^p \right)^{\frac{1}{p}} \left(\sum_{j \in \Omega} \frac{1}{|z|^{(n+1-j)q}} \right)^{\frac{1}{q}} \right] \\ &\geq |a_n|^2 |z|^{n+1} \left[1 - B_{p,t} \left(\sum_{j \in \Omega} \left(\frac{1}{|z|^q} \right)^{n+1-j} \right)^{\frac{1}{q}} \right] \\ &> |a_n|^2 |z|^{n+1} \left[1 - B_{p,t} \left(\sum_{j=0}^{\infty} \left(\frac{1}{|z|^q} \right)^j \right)^{\frac{1}{q}} \right] \\ &= |a_n|^2 |z|^{n+1} \left[1 - \frac{B_{p,t}}{(|z|^q - 1)^{\frac{1}{q}}} \right]. \end{aligned}$$

So, $|F(z)| > 0$ if

$$|z| \geq [1 + B_{p,t}^q]^{\frac{1}{q}}$$

and it leads to the desired result.

Case II: For $\lambda = n - 1$, we have

$$|F(z)| \geq |a_n|^2 |z|^{n+1} \left[1 - \sum_{j=0}^n \left| \frac{ta_j - a_n a_{j-1}}{a_n^2} \right| \frac{1}{|z|^{n+1-j}} \right].$$

Using Holder's inequality and applying the same procedure as in case I, we can easily establish the desired result. This completes the proof of Theorem 1.3. \square

Proof: [Proof of Theorem 1.4] The proof of Theorem 1.4 is omitted because it can be easily obtain from the line of the proof of Theorem 1.3 applying on $R(z)$. \square

Acknowledgments

The author would like to thank the referees for the careful reading of the paper with helpful suggestions and comments.

References

1. Cauchy, A. L., *Exercice de Mathematiques*, Iv Annee de Bure Freres, Paris, (1829).
2. Mezerji, H. A. S., Bidkham, M., *Cauchy type results concerning location of zeros of polynomials*, Acta Math. Univ. Comenianae. LXXXIII (2), 267-279, (2014).
3. Marden, M., *Geometry of polynomials*, Amer. Math. Soc. Math. Surveys 3, Amer. Math. Soc. Providence R.I., (1966).
4. Gulzar, M. H., *Bounds for polynomial zeros*, Int. J. Adv. Found. Res. Sci. Tech. 1 (12), 20-25, (2015).
5. Gulzar, M. H., *Bounds for the zeros of a polynomial*, Int. J. Recent Scientific Research 8 (3), 15873-15875, (2017).
6. Mohammad, Q. G., *On the zeros of polynomials*, Amer. Math. Monthly 69 (9), 901-904, (1962).
7. Mohammad, Q. G., *Location of the zeros of polynomials*, Amer. Math. Monthly 74 (3), 290-292, (1967).
8. Rahman, Q. I., Schmeisser, G., *Analytic Theory of Polynomials*, Oxford University Press Inc, New York, (2002).

Subhasis Das,
 Department of Mathematics,
 Kurseong College,
 India.
 E-mail address: subhasis091@yahoo.co.in